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1. ohg B8 B3 /b2 50| FL AN Atz | 5. ohSE ANT AR gL A2

+1) | (+) | (-1 [ (-1 | (-1)
(=3 (-1 (-1) | (+2) |(+2)
(=2)[(-2) (+D* (-1 | (-1)
(-1 (1) (=1 [(+3)](-2)

@D (-2)? < 22 @ 10% < (-10)*
® —48 > —4? @ (—1)1 < (=2)11
2. oz BE B 7tRe| 59 w2 At &Ad = ® (—4)2 = —4*
Wgofet
(=D (-1 |(-1) (+2)|(+2)
(=3) (-3)|(+2)|(+2) (+2)
(=2) (=2)|(+1) |(+1) | (+1)
1) | (+D [ (+D)|(-4)|(-49) 7. 08 =20 Aoy
@ (-2)>=+8 @ —(-1)2=-2
® -3=9 @ —28 =8
® —(-3)3=-271
3. HrEA ALk A2
8. theS Adstel e At 71 22 4] Adtstol
D (-2)x (-3)=—6 @ (~3)x (~2) =5 S e
@ (-1)x(-1)=0 @ (+4) x (—2) = —6 (—2)% x (=3) x —4?
(=3%) x| = 22[ x (=1)°
® (-2) x (+3) = —6 (_4)3 « (_13)
(—62) x (~22)
(=3%) x (=1%) x (=1)*

4. (-1)'0 - (~1)7 170 & Aatofat
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13.05 5 vt=A AL 227

D (-3) x (+4) =1

@ (=3) x (—4) x (+1) = -6
® (—6) x5 x (—1) =30

@ (-3)x (—4)x1=-12

® (+4) x (+2) = -8

1402 5 —1* I oh& AL2?

@ —12001 @ (—1)2009
@ —(—1)2008 @ —(—12001)
G —(—1)2000
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